SKDC(M)¥ #F 37 167/13 B¢

FEREE AL
FERBAR FLR g1 (EdFL

REREESEN i %’7 O- Z =~ = 3y- ﬁ'ﬁ%’”ﬂ: O -
SEDA PRG-I BE AR AR SBS M A o E g A 3
f R 2 B R

(a) B BERF

AR
2. FREWIOWA T O~ = HF - == PR KT POE I T 2 e
WSRO o DI W IR R E 43 52RO R

iZIEJ
3. O~ = FE o A EFZ R AT 142 K o R F [H TR
65.1% » it I~ F F I 13.6% - 2 RO RRE KR FH W A R P

4. O~ = F - A== EJEW?\%Q%E{#?J 663 F - it A & [ ] [
8.4% o = fol Iy Bik g ET FECE WY A rfFIL_FFJ g U ) S R SRR o

(b) SARfF

S, FTHEIE TR B PR AR YRR Bed B R A R FTJ
e WM EM R R RS RE S KB e S S E o %‘fﬂ’ =
ﬂgﬁL% dsmF: T'F I Tk F”ifl

I

SKDC(M)¥ 57 167/13 B



6. @ i RN [5”5 Fa F“ffl o WM T B BT S F"'F'A’fj e o]
%ﬁﬁﬁﬂﬁﬁﬁﬁﬂﬂWﬁ%iﬁ%’Wﬁ%ﬁ@w’ﬁ@%aW@w
SR A U NN 3L S

(c) F[H B
T T RYEAC I R g R B W ) A R T - S R
R RNCIHE SEEEEE S SR = S R a] R (R R ) e

i

8. %f‘“bffﬁ'll IR %i??ﬁbﬁ[ﬁf’T?ﬁljﬁ'gﬁiﬁ[%ﬁi’i'%%’%‘%ﬁ‘l‘?fgﬁ
P P e -

(d) MPGEMESTT [ aE™ - (2]
9. FEI - FHEA T MMM T B GLE S AT (e EeEE S

SRR SR OFE R L T (R R

lsllA‘

P11 F B B i 7 g
T O- =& A

SKDC(M)¥ [ 57 167/13 5



